@ NHCTPYKLMA NO YCTAHOBKE
SALLUUTA KAPTEPA
@ INSTALLATION MANUAL
SKID PLATE FOR ENGINE BAY

AL

LEXUS RX350 20arruwo

2023- W

5477 | 5478

29/01/24

17




uy

MosopoT
(GB) Screw Arrow

5477 | 5478

29/01/24

217




2X

M8x12

¥

6X

@8

4X
2X
2X

3/7

M8x30
M10x40
M10x90

29/01/24

4X
2X

10
M10x1,25
5477 | 5478

|

\
/

S

o

\

dD me







5477 | 5478

29/01/24

517




/q\‘
Q
RS

|©v
M8 = 24 Nm

/3\‘
&
S

'©V

M10 = 47 Nm

5477 | 5478

29/01/24

6/7




3almTa MOTOPHOrO OTCeKa U 3NEMEHTOB TpaHcMmmuccun paspabotaHa u marotoBrneHa OOO "Metannonpogykums”,
cooTBeTcTBYeT TpeboBaHunsaM TY 4591-001-25888788-2006. KoHCTpyKumMS 3aLyuiLieHa aBTOPCKMMU CBUOETENBCTBAMM
Ha nonesHyto mogernb Ne89059, 15980, 15981, 15982, 15983. 3anateHToBaHO B Poccum.

CTAHOBKA:
3alyTa MOTOPHOIO OTCEeka M dIEMEHTOB TpaHCMUCCUK paspabaTbiBaeTcst MHAUBMAOYAINbHO Ha Kaxabli aBTOMOGWIb.
OHa [oMmKkHa ycTaHaBMMBaTbLCA B COOTBETCTBUM C MHCTPYKLMEN N3rOTOBUTENS CreLManaipoBaHHbIM AUIepoM U Ha
cepTuduumpoBaHHbix CTO. 3almTa KpenuTes K LTaTHbIM OTBEPCTUAM CUIOBBIX 371EMEHTOB Ky30Ba. Mpu npaBurbHOM
yCTaHOBKe 3aLlyMTa He JoJkHa KacaTbCsl Y3OB U arperatoB aBTOMOOuUIS.

i

l

CNNOBUA SKCIITYATALIUN.
3awuTta MOTOPHOrO OTCeKka W JMEeMEHTOB TPaHCMWUCCUWM MpefHasHadyeHa [Ansa SKcnnyatauum B YCIOBUSAX
npeaycMOTPEHHbIX NMpor3BoauTenem asTomobuns. MNpu akcnnyataumm A0oMmKHbI ObITb UCKIKOYEHbI CrlydYan Haesaa Ha
KpYyMHble NPenaTCTBUSA U NpeaMeTbl Mpu ABMXKXEHUM aBTOMOOWNS Ha ckopocTu. B cnyyae Haesga Ha npensitctBue
Heobxoaumo ybeauTbecs B OTCYTCTBUM MOBPEXAEHUI Y3MOB U arperatoB aBTOMOOUNSA M NPUroAHOCTU AarbHenLen
aKcnnyaTaumm 3awmThbl Ha cneymanuanpoBaHHon CTO.

FAPAHTUA:

[apaHTUHBIN CPOK AKCNNyaTauum - 24 mecsaua.

‘

CJ1I0BUA NPEOOCTABJIEHUA FTAPAHTUN:
3awmra ycrtaHoBneHa Ha aBTOMOOMMb, C He MOBPEXAEHHbIMW CUIOBBIMW 3fEMEHTaMV Ky30Ba W KOHCTPYKLUK
(aBTOMOOUIB, KOTOPLIN He yyacTBoBan B ATI);
OTCyTCTBYIOT MEXaHNYECKNE MOBPEXAEHNS 3aLLUThI, NOMyYeHHble B pe3ynbraTe Haeaaa Ha NpensiTcTBue;
CobntoaeHbl Bce TpPeboBaHMSA MHCTPYKLIMMN MO YCTaHOBKE 3aLUMThI;
OTCyTCTBYIOT MEXaHNYECKNE MOBPEXAEHNS MOPOLLKOBOIO MOKPLITUS.
MpounsBoanTenb He HeCeT OTBETCTBEHHOCTU 3a J1060M yLLEep6, MPUUYMHEHHDBIN aBTOMOBWIO, XU3HW 1 340POBbLIO NoAeN,
B Crly4ae HapyLleHUs YCIOBMI YCTAHOBKU M 3KCMyataumm 3awwmTel. [pom3BoamTens BnpaBe BHOCUTbL U3MEHEHUS B
KOHCTPYKLMIO 3aLLUThI.

OXPAHA OKPYXXAIOLLIEU CPE[bI n A ,\
YTnnuaunpyinTe ynakoBky npaBunbHo. PekomeHayeTcs caaBath ee Ha nepepaboTky. 21
He 3abbiBaliTe 06 oxpaHe okpyxatoLLen cpeapl. C3 , C4 ’ C ’

PVC LDPE PAP

Engine bay and transmission elements skid plate has been designed and manufactured by LLC Metalloproduktsia.
Product conforms to TOR 4591-001-25888788-2006 requirements. Product design is protected by model copyright
certificates Ne89059, 15980, 15981, 15982, 15983. Patented in Russian Federation.

INSTALLATION:

Engine bay and transmission elements skid plate has been designed particularly for a certain vehicle. It should be
mounted according to the producer's installation instruction by a dedicated dealer or on certified service stations. The skid
plate is fixed to regular apertures located on vehicle's body load-bearing elements. In case of correct installation the skid
plate should not interfere with any vehicle's units and components.

OPERATING CONDITIONS:

Engine bay and transmission elements skid plate has been designed to operate in conditions specified by vehicle's
producer. Cases of crush or driving into obstacles at a speed should be excluded during exploitation. In case of head-on
crush it is necessary to assure in absence of damages of vehicle's components and units and availability of
roadworthiness on certified service stations.

WARRANTY:

Warranty period - 24 months.

WARRANTY TERMS:

The skid plate should be installed on a vehicle with undamaged body and load-bearing elements (vehicle, which hads
never been involved in road traffic accident);

There are no mechanical damages of the skid plate resulting from head-on crush. All requirements to skid plate
installation should be satisfied;

There are no mechanical damages of powder coating.

Producer does not bear liability for damages caused to the vehicle, health and life of people in case of installation and
exploitation terms violation. Producer has aright to introduce changes into the skid plate construction.

ENVIRONMENTAL PROTECTION

Dispose of packaging properly. It is recommended to take it for recycling. Don't forget about

| | AATNIA
environmental protection. C:‘);) LD CZD

PVC LDPE PAP

QID MP 5477 | 5478 29/01/24 717




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7

